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O x*-16x+64 @ 4x%2 —4x+1
1

® x2 + 8xy + 16y @x2+§x+l

® 2x% — 4xy + 2y?

~&B

@ x* - 16x+ 64 = (x - 8)?
@ 4x? —4x+1=(2x-1)?
® x2 + 8xy + 16y? = (x + 4y)?
® 2x2 - 4xy + 2y% = 2(x — y)?
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3. xX+Tx+102F Aol o=z

¥+ 7x+10= (x +5)(x+2)
xR+ (x+2)=2x+7
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@ (5x-3)(3x+4) @ (5x-3)(3x—4)
® 3(5x—4)(x+1) @ (5x-12)(3x+1)

® (5bx+12)(3x-1)

B

15x% + 11x — 12 = (5x — 3)(3x + 4)
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a-b=1,a>-p*=4<L " a+b2 FE?

D1 @ 2 ® 3 @4

a’>-b>=(a+b)la-b)=(a+b)x1=4
La+b=4
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(x+Y)22=x24+2Yx+ Y2 =x2+6x+X
2Y =6 L Y=3

Y2=32=9=X

SoXY =27
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5
2b=05, b= —
2

25

=p2 ===

a 4
15
a-b=—




11, 22 - 10x+A = (x+5)(x—B) L 0l A, B 2] g2 22 Faoiel,

v v vYy
0x
(LI 1 L L
S
|
|
BN
ot

0
AL
o]
|

_
ot

x> =10x-75= x>+ (5— B)x— 5B
5-B=10, . B=15
L A=-5B=-75
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@® 972 = (100 - 3)? = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x49=(5+0.1)(5-0.1) = 5% - 0.12 = 24.99

® 3012 = (300 + 1)% = 300 + 2 x 300 x 1 + 12 = 90601
@ (V2+ V3)(V2- V3) = (V2)2 = (V3)* = -1

(= V10 - ¥2)(V10 - V2) = (V10)* - (V2)* =8
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13. =4 2x(x + 1) - 6(x + 1), x* - 9, x* - 6x +
9 o] 5 A4E F5tofet.
> £

> &g x-3

B
2x(x+1)—6(x+1) = (x+ 1)(2x - 6)
=2(x+1)(x-3)

¥ -9=(x+3)(x-3)
x2—6x+9=(x-3)?
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@ (x-y-1)(x+y+6) @ (x-y+1)(x-y-6)
@ (x+y+2)(x—y-13) @ (x-y-2)(x+y+3)
@ x-y-1)(x-y+6)

~&B

x—y=t2al g uf,

tt+5) -6=1+5-6
=(-1)(r+06)
=(@x-y-1)(x-y+6)




15. o2 5 22 —y? - 2x+2y 9 A5 ALY

® x-2 @ x+y @x—y

@ x+y+2 ® x-y+2

(x+y)(x-y)-2(x-y) = (x+y-2)(x~-y)
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+2xy+1yi—1
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71 a +2ab+b2 (a+0b)?
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(Hh) @® - % = (a+b)(a—b)
(th) »? +(a+b)x+ab—( a)(x+b)
(2H acx® + (ad + bc)x + bd = (ax + b)(cx + d)
@eh. oh @ (1, (°h ® (b, (b
@ (%), (7h © 7h, (=)

¥+ 2xy+y? -1
=(x+y)?-1 - a®>+2ab+b*>=(a+b)? °l&
=(x+y+1(x+y-1) - (@ -b*)=(a+b)(a-b)
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a’*+4a+4=(a+2)?
=(V2-1+2)
=(V2+1)?
=242V2+1
=3+2V2
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=(x-3)(x-2) °IX n=6
-1)(x—-4) oM n=4
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> E.

> Het: A=14
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22 ax+ b 2 oA
3x> = Ax—5 = (x-5)(ax+b)

= ax?® + bx — 5ax — 5b
a=3,-5b=-5,b=1
b-ba=1-15=-14=-A,A=14
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(x+1) (x-10) 22 A4EafistH 1, Yol 443 AR B
(x+3) (x - 6) 22 QAIFEF AT Fo7] o|2HA] HE2A| I8

sHste?

@ (x-5)(x+2) @ (x-3)(x+6)
® (x+5)(x-2) @ (x-1)(x+10)
® (x-5)(x-2)

- 9x — 10 A A= -10 = 9HA Bk,
x% - 3x— 18 A x 9] A4 -3 & 9| B3ttt
o7 o] &AL x2 - 3x - 10 = (x — 5)(x + 2)
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(x=1)(x=2)(x=3)(x—4) +m ©] &AA
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> At m=1

~&B

(x=1)(x-2)(x=3)(x—4) +m
=x-1Dx-49)x-2)(x=3)+m
= (x> =5x+4)(x> =5x+6) +m
x?-5=1 2 g5t
(t+4)(t+6)+m
2 +10t+24+m
2+ 101424+ m = (14 5)?
24 +m = 52
om=1°]|t},
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A, B, C oA A= Aot

She 2 93 % 90, 0, 7} Al A
Atk ¥ 0y 9 HHAEol a, ¥ Oy 9
w1 B0l b o W), AT H0] HolE a St b & AHgstol ek 2
NOANG B
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© 7 (342 + 3b* + 8ab) @ 8rab
@271{1!) @ nab
®n (2a2 +2b% + 8ab)

0, 9 HAEL2 a, 0, O HIAE2 b o|BRE & 9] HHA]
a+ b o|th,
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wreta] A BBl Yol = (a+b)%r—a’n—b*m = 2abn ©|T.
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Xt = 1307 + 362 AFEoE o, SR LR o] Fof%

ke 1519
O 4x+13 @4x ® 4x-13
@ 2x2-13 ® 2x2+5

B

x* = 13x% + 36= (x2 - 9)(x% - 4)

= (x+3)(x—3)(x+2)(x~2)

- (2R Q55 )
=x+3+x—-3+x+2+x—-2=4x
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o+2 194 oABEF 2} oFHGD 7} Ak
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O EHE r+s5=1

_-a--

A2+ ABFE, EGHD = AAMzZtgo|ng
HE=b-(a-b)=2b-a,EC=a-b

"2 A 9] "ol (26 - a)(a—b) °lH.
webA r= -1, s=20|E& 45 =1 °Jc}.




